Federal Mineral Lease Direct Distribution - by Local Government Entity FY 2008

Municipality	cipality FML Distributed Municipality Amount		FML	Distributed Amount	
Adams County	100	\$90,855.22	Clear Creek County	102	\$92,672.35
Adams County	10	\$9,085.52	Clear Creek County	16	\$14,536.84
Bennett, Town of	1	\$908.55	Empire, Town of	15	\$13,628.29
Brighton, City of	26	\$23,622.36	Georgetown, Town of	22	\$19,988.15
Commerce City, City of	13	\$11,811.18	Idaho Springs, City of	48	\$43,610.52
Northglenn, City of	6	\$5,451.31	Silver Plume, Town of	1	\$908.55
Thornton, City of	22	\$19,988.15			
Westminster, City of	22	\$19,988.15	Conejos County	1	\$908.55
			Antonito, Town of	1	\$908.55
Alamosa County	2	\$1,817.10	rintonico, Town of	•	φ>00.55
Alamosa, City of	2	\$1,817.10			
Thumosu, City of	-	Ψ1,017.10	Costilla County	1	\$908.55
			Costilla County	1	\$908.55
Arapahoe County	49	\$44,519.06			
Arapahoe County	1	\$908.55	Crowley County	1	\$908.55
Aurora, City of	23	\$20,896.71	Ordway, Town of	1	\$908.55
Centennial, City of	2	\$1,817.10			
Englewood, City of	5	\$4,542.76	Custon County	2	\$1,817.10
Littleton, City of	18	\$16,353.94	Custer County Westcliffe, Town of	2	\$1,817.10
			westchile, fown of	2	\$1,817.10
Archuleta County	4	\$3,634.21			
Archuleta County	1	\$908.55	Delta County	957	\$869,484.64
Pagosa Springs, Town of	3	\$2,725.66	Cedaredge, Town of	44	\$39,976.31
			Crawford, Town of	26	\$23,622.36
5 • • •		#000 # #	Delta County	465	\$422,476.86
Baca County	1	\$908.55	Delta, City of	187	\$169,899.30
Springfield, Town of	1	\$908.55	Hotchkiss, Town of	52	\$47,244.72
			Orchard City, Town of	83	\$75,409.85
Bent County	1	\$908.55	Paonia, Town of	100	\$90,855.24
Bent County	1	\$908.55			
			Denver County	49	\$44,519.07
Boulder County	25	\$22,713.81	Denver, City And County of	49	\$44,519.07
Boulder, City of	1	\$908.55	Denver, only 1 ma country of	.,	φ,ε.1>.07
Lafayette, City of	3	\$2,725.66			_
Longmont, City of	20	\$18,171.05	Dolores County	45	\$40,884.86
Louisville, City of	1	\$908.55	Dolores County	21	\$19,079.60
Eduisvine, City of	1	Ψ700.33	Dove Creek, Town of	24	\$21,805.26
Broomfield County	3	\$2,725.66	Douglas County	14	\$12,719.72
Broomfield, City and County of	3	\$2,725.66	Castle Rock, Town of	5	\$4,542.76
			Douglas County	6	\$5,451.31
Chaffee County	9	\$8,176.97	Lone Tree, City of	1	\$908.55
Buena Vista, Town of	6	\$5,451.31	Parker, Town of	2	\$1,817.10
Salida, City of	3	\$2,725.66			
Chavenna County	1	\$908.55			
Chevenne Wells, Town of					
Cheyenne Wells, Town of	1	\$908.55			

Federal Mineral Lease Direct Distribution - by Local Government Entity FY 2008

Municipality	FML	Distributed Amount	Municipality	FML	Distributed Amount
Eagle County	11	\$9,994.07	Huerfano County	5	\$4,542.76
Avon, Town of	2	\$1,817.10	Huerfano County	3	\$2,725.66
Eagle County	3	\$2,725.66	La Veta, Town of	1	\$908.55
Gypsum, Town of	5	\$4,542.76	Walsenburg, City of	1	\$908.55
Minturn, Town of	1	\$908.55			
			Jackson County	5	\$4,542.76
El Paso County	30	\$27,256.57	Jackson County	3	\$2,725.66
Calhan, Town of	1	\$908.55	Walden, Town of	2	\$1,817.10
Colorado Springs, City of	17	\$15,445.39			
El Paso County	8	\$7,268.42	Jefferson County	127	\$115,386.15
Fountain, City of	3	\$2,725.66	Arvada, City of	30	\$27,256.57
Manitou Springs, City of	1	\$908.55	Edgewater, City of	5	\$4,542.76
			Golden, City of	14	\$12,719.73
Elbert County	2	\$1,817.10	Jefferson County	41	\$37,250.65
Elbert County	1	\$908.55	Lakewood, City of	30	\$27,256.57
Kiowa, Town of	1	\$908.55	Wheat Ridge, City of	7	\$6,359.87
Fremont County	2	\$1,817.10	Kiowa County	2	\$1,817.10
Fremont County	2	\$1,817.10	Haswell, Town of	2	\$1,817.10
Garfield County	1281	\$1,163,855.62	La Plata County	172	\$156,271.00
Carbondale, Town of	2	\$1,817.10	Bayfield, Town of	17	\$15,445.39
Garfield County	673	\$611,455.76	Durango, City of	35	\$31,799.33
Glenwood Springs, City of	25	\$22,713.81	Ignacio, Town of	10	\$9,085.52
New Castle, Town of	25	\$22,713.81	La Plata County	110	\$99,940.76
Parachute, Town of	153	\$139,008.52			
Rifle, City of	353	\$320,719.00	Lake County	8	\$7,268.42
Silt, Town of	50	\$45,427.62	Leadville, City of	8	\$7,268.42
Gilpin County	1	\$908.55	Larimer County	64	\$58,147.35
Gilpin County	1	\$908.55	Berthoud, Town of	3	\$2,725.66
			Fort Collins, City of	18	\$16,353.94
Grand County	9	\$8,176.96	Larimer County	4	\$3,634.21
Fraser, Town of	1	\$908.55	Loveland, City of	35	\$31,799.33
Grand County	1	\$908.55	Wellington, Town of	4	\$3,634.21
Grand Lake, Town of	1	\$908.55			
Hot Sulphur Springs, Town of	4	\$3,634.21	Las Animas County	•	Ø1 01# 1A
Kremmling, Town of	2	\$1,817.10	Las Animas County Las Animas County	2 2	\$1,817.10 \$1,817.10
Gunnison County	21	\$19,079.60	Lincoln County	2	¢1 017 10
Gunnison County	20	\$18,171.05	Lincoln County Limon, Town of	2 2	\$1,817.10 \$1,817.10
Gunnison, City of	1	\$908.55	Linion, Town of	۷	φ1,017.10

Federal Mineral Lease Direct Distribution - by Local Government Entity FY 2008

Municipality	nicipality FML Distributed Municipality Amount		FML	Distributed Amount	
Logan County	26	\$23,622.36	Ouray County	3	\$2,725.65
Fleming, Town of	1	\$908.55	Ouray, City of	1	\$908.55
Iliff, Town of	2	\$1,817.10	Ridgway, Town of	2	\$1,817.10
Logan County	11	\$9,994.08			
Merino, Town of	1	\$908.55	Park County	3	\$2,725.66
Sterling, City of	11	\$9,994.08	Park County	3	\$2,725.66
Mesa County	3258	\$2,960,063.88	Phillips County	1	\$908.55
Collbran, Town of	13	\$11,811.18	Holyoke, City of	1	\$908.55
De Beque, Town of	58	\$52,696.04			
Fruita, City of	349	\$317,084.79		_	
Grand Junction, City of	1201	\$1,091,171.43	Prowers County	7	\$6,359.86
Mesa County	1584	\$1,439,147.16	Lamar, City of	5	\$4,542.76
Palisade, Town of	53	\$48,153.28	Prowers County	2	\$1,817.10
Moffat County	749	\$680,505.75	Pueblo County	10	\$9,085.52
Craig, City of	546	\$496,069.61	Pueblo County	6	\$5,451.31
Dinosaur, Town of	17	\$15,445.39	Pueblo, City of	4	\$3,634.21
Moffat County	186	\$168,990.75			
,		,,	Rio Blanco County	464	\$421,568.31
			Meeker, Town of	109	\$99,032.21
Montezuma County	97	\$88,129.58	Rangely, Town of	269	\$244,400.59
Cortez, City of	36	\$32,707.89	Rio Blanco County	86	\$78,135.51
Dolores, Town of	4	\$3,634.21	Tuo Bianco County		φ <i>1</i> 0,120.01
Mancos, Town of	2	\$1,817.10			
Montezuma County	55	\$49,970.38	Rio Grande County	3	\$2,725.65
			Center, Town of	1	\$908.55
Montrose County	101	\$91,763.79	Del Norte, Town of	1	\$908.55
Montrose County	51	\$46,336.17	South Fork, Town of	1	\$908.55
Montrose, City of	30	\$27,256.57			
Naturita, Town of	9	\$8,176.97	Routt County	138	\$125,380.22
Nucla, Town of	8	\$7,268.42	Hayden, Town of	52	\$47,244.72
Olathe, Town of	3	\$2,725.66	Oak Creek, Town of	21	\$19,079.60
			Routt County	31	\$28,165.12
Morgan County	39	\$35,433.55	Steamboat Springs, City of	27	\$24,530.91
Brush, City of	11	\$9,994.08	Yampa, Town of	7	\$6,359.87
Fort Morgan, City of	11	\$9,994.08			
Log Lane Village, Town of	1	\$908.55	Saguacha County	2	¢1 017 10
	15		Saguache County Moffat, Town of	2 1	\$1,817.10 \$908.55
Morgan County Wiggins, Town of	13	\$13,628.29 \$908.55	Saguache, Town of	1	\$908.55
Otero County	10	\$9,085.52	San Juan County	3	\$2,725.66
Cheraw, Town of	1	\$908.55	San Juan County	3	\$2,725.66
Fowler, Town of	1	\$908.55			
La Junta, City of	5	\$4,542.76	San Miguel County	9	\$8,176.97
Otero County	3	\$2,725.66	Norwood, Town of	4	\$3,634.21
			San Miguel County		\$4,542.76
			San ivilguel County	5	\$4,542.76

Municipality	FML	Distributed Amount	Municipality	FML	Distributed Amount
Summit County	6	\$5,451.31			
Frisco, Town of	1	\$908.55			
Silverthorne, Town of	1	\$908.55			
Summit County	4	\$3,634.21			
Teller County	1	\$908.55			
Woodland Park, City of	1	\$908.55			
Washington County	2	\$1,817.10			
Washington County	2	\$1,817.10			
Weld County	279	\$253,486.13			
Dacono, City of	1	\$908.55			
Eaton, Town of	3	\$2,725.66			
Erie, Town of	1	\$908.55			
Evans, City of	46	\$41,793.41			
Firestone, Town of	7	\$6,359.87			
Fort Lupton, City of	15	\$13,628.29			
Frederick, Town of	2	\$1,817.10			
Garden City, Town of	1	\$908.55			
Gilcrest, Town of	1	\$908.55			
Greeley, City of	90	\$81,769.72			
Grover, Town of	1	\$908.55			
Hudson, Town of	3	\$2,725.66			
Johnstown, Town of	11	\$9,994.08			
Keenesburg, Town of	3	\$2,725.66			
Kersey, Town of	3	\$2,725.66			
La Salle, Town of	5	\$4,542.76			
Lochbuie, Town of	1	\$908.55			
Milliken, Town of	2	\$1,817.10			
Platteville, Town of	15 61	\$13,628.29 \$55,421.70			
Weld County Windsor, Town of	7	\$6,359.87			
Yuma County	38	\$34,524.99			
Eckley, Town of	4	\$3,634.21			
Wray, City of	11	\$9,994.08			
Yuma County	18	\$16,353.94			
Yuma, City of	5	\$4,542.76			
	ML Totals: Employee Distributed Count Amount		Rate / Employee		
836		595,498.04	\$908.55		